; - FITTER/LISTER NOTES
g 5 0 4o 1. ALL BRANCHLINE AND MAIN HANGERS PER DETAIL "SB" U.N.O.
- §-4.5" | o0 | 12-10° | 9 | §-4.5" — — - = | | - 2. SEND 70 FT. OF BULK 3/8" ATR FOR CTS HANGER RODS.
= 3. EXCLUDING WORK ON OVERTIME OR AFTER HOURS.
° o 1 - 4. EXCLUDING RELOCATING OR MODIFYING THE EXISTING SPRINKLER
,
- - ——— ‘_‘0 S d _ _ — SYSTEM TO ACCOMMODATE THE WORK OF OTHER TRADES.
) " 12-3.5"
., SES START POINT E— A 438 i vEXISTING SPRINKLLR PROTECTION® 5. DUMMY DROPS TO BE INSTALLED
V; ADD GRV 90 - sy — & — 1 = T — — 6. ALL RETURN BENDS IN WORKSITE 1 TO BE PER B/1 DETAIL
N A e e < . - o | 7. ALL RETURN BENDS IN WORKSITE 2 TO BE PER D/1 DETAIL
4 LT N *5 - \ - ﬂ B g B A S o ~_ g S 8. DRY SYSTEM BRANCH LINES TO SLOPE %" PER 10
. . ‘ "o =
) . os\¢» 95 | o 05\ & | . | | | I Y BLUE m ‘ | | o | | 9. DRY SYSTEM MAINS TO SLOPE %" PER 10’
A B 15 | 15 | 1.5 \g/@ 0 NN - g [ M < I g I
) { ” ‘/\’ L ( ¢ f!' . SB o) .
T = o4 = g oY : s I 2 oo 38 GENERAL NOTES
S ENE NS | s o N R - = I - D S
m N N ) 2N = © 2 =
76V\(/5H@ E ) / / ‘ owH L : P | | 5 _1 oo R N R N O b | | 3 1. ALL STEEL PIPE TO BE AS FOLLOWS UNLESS NOTED OTHERWISE:
- . »\g’),i\ § ! | A e \@"? z g —oe— - = = ' + i + 1 ~ \? — - = —— STEEL PIPE ASTM E -53/ASTM A-795 OR BETTER
3 = - \ L ~ m ; m §
: SEE DRAIN £o &m0 110 ST 3 1 . T L e N B . Size | SCHEDULE |1 GinEss| DIAMETER END PREP TYPES ALLOWED R e | Wi
DETAIL — Lo, | @ | o\ e, i = | | 9 9 9 9 | | B
¥ ‘ ‘ = = - ?< ?< 1 40 0.133 1.049 THREADED, CUT GROOVED, ROLL GROOVED, PLAIN END, POLISHED 2.053 0.044
B ] e _ 18"x5"WOOD BEAM B 2| - 2 © / \ © 11/4 40 0.140 1.380 | ROLL GROOVED, POLISHED, PLAIN END (FOR BUTT WELDING ) 1.817 0.097
—— — — /1 % - /T — = - ‘7 — i mE ;T - T m‘ | 7SEEDRAW/ ‘ \ ~C 11/2 |EDDY FLOW| 0.086 1.728 ROLL GROOVED, POLISHED, PLAIN END (FOR BUTT WELDING ) 2.860 0.122
| 5 8 N g | 22 : 1 3 o g é, ] o — DETAIL | ‘ | 2 |eDDY FLOW| 0.086 2.203 | ROLL GROOVED, POLISHED, PLAIN END (FOR BUTT WELDING) 3.982 0.198
18r<\0'>' g 15 S 15 ) 15 ‘ A»\g} 815 :c}-lflﬁ | ° o " ¢ 21/2 |EDDY FLOW| 0.085 2.705 ROLL GROOVED, PLAIN END (FOR BUTT WELDING ) 5.299 0.298
e =\ - oo *5‘3 o " 5115 Y ~los * ] .3 CLEAR 9 20WH | 5 Qe 20WH | N 3 |eppy FLow| o0.083 3.334 | ROLL GROOVED, PLAIN END (FOR BUTT WELDING ) 7144 | 0453
VU - AL ‘ Y < \,\@' a i | o :l o Jr;:ISB (;;H—(/k@ o 45 é 201 S 4 |eopyFLow| 0.095 4.310 | ROLL GROOVED, PLAIN END (FOR BUTT WELDING) 11290 | 0.758
o o - N o o B 4">/ B . JR' o ® 9 1 < & T a—  a— ——— N 5 10 0.134 5.05 | ROLL GROOVED, PLAIN END (FOR BUTT WELDING) 17.300 | 1.144
C 12-0 0-8 5 6 10 0.134 6.357 ROLL GROOVED, PLAIN END (FOR BUTT WELDING) 23.030 1.649
8 *% 0.188 8.249 ROLL GROOVED, PLAIN END (FOR BUTT WELDING ) 40.080 2.78
SEE DETAIL D/1 :c SEE DETAIL D/1 *#* WALL THICKNESS PER NFPA # 13
WORKSITE 1 WORKSITE 2 SMITH FIRE SYSTEMS (SFS) WILL MODIFY THE EXISTING SPRINKLER SYSTEM TO
pd Z ACCOMMODATE THE ROOF INFILL AREAS.
0 4 8 0 4 8
" —" —" — " — — —
SCALE 1/4'=1-0" SCALE 1/4'=1-0" C LAR I F I CATI O N S .
1. ALL AREAS PROTECTED BY A WET PIPE SYSTEM MUST BE MAINTAINED AT 40°F IN
ORDER TO PREVENT FREEZING.
205 2. SPRINKLER MODIFICATIONS ARE BASED UPON HAVING ADEQUATE PRESSURE
— — AVAILABLE AT THE POINT OF CONNECTION
- 15-7" - 3. MATERIALS INSTALLATION AND DESIGN PER NFPA 13 STANDARDS AS SELECTED BY
SFS.
L 15745 - 4. ROUGH-IN OF NEW SPRINKLER DROPS MUST BE COMPLETED BEFORE NEW WALLS OR
F CEILINGS ARE INSTALLED.
REMOVE EXISTING ROOF FINISHES. . .
/ NEW F1FR SSU EXISTING ROOF STRUCTURE TO REMAIN. E)T(EJ(!\ITBSS ?g'ﬁ‘é,\j\,ﬁﬂ EXC LU S I O N S .
EXISTING MANSARD 1o
e Vo 651 1. SAFE OFF OR A SEPARATE DEMO TRIP IS NOT INCLUDED UNO.
I SHEATHING FOR INSTALLATION P - 2. FLOOR MUST BE FREE AND CLEAR OF MERCHANDISE, STOCK, RACKING OR
ggglFE\I/:\{ ’\?I'gﬁNDING SEAM METAL ElIIEE\II_VD1;EEI?' _';(gAN E)é'YSg"\INDGT'\éAgES@Z% F'C?g\’\//'é';G (\ CONSTRUCTION MATERIALS TO ALLOW FOR ACCESS TO PIPE AT THE STRUCTURE.
EXISTING G.L. RAFTERS AND MATCH ROOF PITCH OPENING WITH NEW PLYWOOD W P | 3. CUTTING PATCHING OR FIRE CAULKING OF WALLS, CEILINGS, OR FLOORS
1" TEE W/ PLUG LOISTS BELOW FRAMED P " o SHEATHING FOR INSTALLATION < 4. ACCESS PANELS OF ANY KIND.
AR MU ~ X 1" TEE W/ PLUG - OF NEW STANDING SEAM METAL CAREA PROTECTED BY | 5. DOH, FM, INSURANCE, OR OTHER OUTSIDE REVIEW REQUIREMENTS, APPROVALS OR
1 / \ | " TEE 1 ~ ‘ ® EXISTING SYSTEM* FEES
0 - I ‘ 157" \ N ~ 6. HEAT TRACE OR INSULATION OF ANY KIND
]Q < 1 @ T AFF / o~ | " 7. ANY WORK OUTSIDE THIS TENANT SPACE
0-6 S / T 3 02 e CLEARANCE RN 8. PAINTING OR LABELING OF PIPE.
/ 1" PER PLAN (VARIES) - ol o |- 1" NIPPLE PER PLAN 1-56.5 { o |2 = —3 128 12 9. REPLACEMENT OF PAINTED, DAMAGED, OR CORRODED SPRINKLERS.
SEE DETAIL B/1 o < X (VARIES) ) 2 ~|o EXISTING 4" MAIN —; g | 10. ELECTRICAL OR ALARM WORK OF ANY KIND.
( - |2 + i @ 109" 2 K 8 '+ T 11. BACKFLOW INSTALLATION, MODIFICATION, OR CERTIFICATION (IF REQUIRED)
— N n . — 1 N — ) )
A_”X fa NELEIY R LU R EﬁFH e o BRANCHERE A=285 & D - F 12. REPAIRS OR MODIFICATIONS TO THE EXISTING SYSTEM BEYOND THE SCOPE
Lo AFF T T 00 0 1 / — = v DESCRIBED ABOVE.
I ‘ 6_8'5:'5; Y - - - < 13. FIRE WATCH OR TEMPORARY SPRINKLER PROTECTION DURING CONSTRUCTION.
GWB CEILING @ - - - S 14. MODIFICATIONS REQUIRED TO ACCOMMODATE THE WORK OF OTHER TRADES
5 GWB CEILING EXISTING SOFFIT 15. STRUCTURAL ANALYSIS, SEISMIC INVESTIGATION, OR PE REVIEW UNO
CONSTRUGTION 16. UNDERGROUND WORK OF ANY KIND
. : . . | | TO REMAIN
= - — > EXISTING G.L. RAFTERS,
2 — . JOISTS, AND FRAMED
F3 DRY - £5 DRY OPENING TO REMAIN BELOW D ES | G N C RlTE R |A
PENDENT .
PENDENT SEE DETAIL D/ PER NFPA 13 2019 AND THE CITY OF PUYALLUP
o s EXISTING CRITERIA:
@I& = :AFBF S———— . . NO OCCUPANCY - LIGHT HAZARD CLASSIFICATION
R ‘ a2 e i, : "' O 5 4,:‘:- 7 .
! R TES == e T e 55 NEW DESIGN CRITERIA:
#' f'ig T Z N iinin | = aiw; , NO OCCUPANCY - LIGHT HAZARD CLASSIFICATION
e e e jt:%{&:ﬂ?ﬁ ——t (HH PR — oo fD = H—
P T s o A i i AT Hir— s i A .
THIS PROJECT IS A TENANT IMPROVEMENT. THIS FACILITY HAS ALREADY BEEN PROTECTED
DETAIL B/1 SECT|ON A/1 DETAIL D/1 SECT|ON C/1 BY A FIRE SPRINKLER SYSTEM. SMITH FIRE SYSTEMS IS ADDING AND/OR RELOCATING
SPRINKLER HEADS TO ACCOMMODATE THE NEW TENANT WALL, CEILING, LIGHTING, AND
FACING NORTH FACING NORTH HVAC LAYOUT. ALL WORK WILL BE DONE WITHOUT AFFECTING THE CAPABILITY OF THE
0 05 1.0 1.5 0 4 8 0 05 1.0 1.5 0 4 8 EXISTING SYSTEM; THEREFORE, NO NEW HYDRAULIC CALCULATIONS ARE NECESSARY.
— — — ™ ™ — — — ™ ™
SCALE 1.5'=1-0" SCALE 1/4'=1-0" SCALE 1.5'=1-0" SCALE 1/4"=1-0" SITE
2'x 4" STUDS AT 4" 0.C 2'x 4" STUDS AT 4" 0.C
f : (8) 5/16" x 3" LAG BOLT (8) 5/16" x 3" LAG BOLT
| (2) 4" x 4" x 16" BLOCK —l \ / W/ WASHER (2) 4"x4"x 16" BLOCK—l \ / W/ WASHER (6-0) —— I
. WOOD TRUSS TOE
. 3/8" LAG BOLT W V7 Ny \
| 1000 F1G 58 X / PN A / ! 2x 4 x 60 (2) HEADER
s
T IDE BEAM ﬂ ~ A\_ ﬂ A A\\_ 3 AG SCREW \ 17 x 48 (2) .
12" x 4" 3/8" ATR (2) 1/2 x 3 1/2" LAG BOLT Q (2) 1/2' x 3 1/2' LAG BOLT W/ %" STD. WASHER x 24 (2) | -
WOOD JOIST W/ (4) 16D NAILS Affinity at Puvaliup
& B i L e |
3/8" ATR o1 | TYCO DD-1 —=— 'y 1
(2) TOLCO FIG. 980] TOLS(\J;\(/)IVFIE.EQI\?S j 45° TOLCO FIG. 58 3/8" MINT DRUM DRIP
é % SWIVEL END FROM SID1E"BEA1|V!I BRACKET TOLCO FIG. 58 | ot JOIST j
N 1" (3-6) SCH 40 BRACE PIPE 1" (3-6) SCH 40 BRACE PIPE - VERTICAL st G SCREW SIDE BEAM | ~— 3/8" ATR
N HANGER RING TOLCO FIG. 980 SWIVEL END TOLCO FIG. 980 SWIVEL END ( g SURGE CLIP BRACKET HANGER RINGS
TOLCOFiG. 4 — 5 HANGER RING
PIPE CLAMP 10160 FG. A —"
PIPE CLAMP
Read Permit Conditions prior to calling for inspection. \
RISER ROOM T
1 L ¥ N
In existing buildings all required service and maintenance to be completed prior to inspection. . L, -: - -
[2) 5
U, W
City of Puyallup | [THE APPROVED CONSTRUCTION =B I
Fire PLANS AND ALL ENGINEERING ' ",' s A | e SO
REVIEWED MUST BE POSTED ON THE JOB AT e I JZ
FOR ALL INSPECTIONS IN A VISIBLE AND WORKSITH 2 i 2 L B
READILY ACCESSIBLE LOCATION. e e LFacilitatinaglEide
COMPLIANCE Sl22nd St g A
DDrake . .
T Approvall off sul:.>m.|tted plans is .nc;‘t ia)n ’ City o Puyallp
10:38: 14 AM approval of omissions or oversight by this | ;o eiomenta permiting Services ORKSITE
office or noncompliance with any ISSUED PERMIT N N
applicable regulations of local government. Building SlTE PLAN AR EA MAP
The contractor is responsible for making ot | Trut Eorks — | H H
sure that the building complies with all = : ; NTS NTS
applicable building codes and regulations of Fire ;g Traffic KEYP LAN
the local government. pa
N.T.S.

ABBREVIATIONS SYMBOL LEGEND SYMBOL LEGEND PIPE LEGEND FLEX LEGEND SPRINKLER LEGEND REVISIONS CONTRACT WITH SMITH FIRE SYSTEMS. INC
AFF | ABOVE FINISHED FLOOR MAKE | TYPE |LEN|NIPPLE [BRKT|SCRW|QNTY|| SYM | MANUFACTURER | SIN. | TYPE | MODEL | SPRNdeER [ esourareon | onmce | mmcao [ Tewr. [ oRverak [ quwrm [INO| DATE | BY REASON FOR REVISION ’ '
B0B | BOTTOM OF BEAW —@ gEEJcE;?HF'z\IEE IgFINPC';EESTO REFERENCED <« |NEW 1" PLUG NEW SPRINKLER PIPE EASY | HIPERF.| 48'| 1/2° |ACT| NA EXISTING #| - | - WALEFINS CONSTRUCTION LLC 5 5 1106 54th AVE EAST
BOJ | BOTTOM OF JOIST BOD o ~ EXISTING SPRINKLER PIPE  |['EasY | HIPERF.| 60" | 1/2° |ACT| NA ¢ UNCHANGED SSP CHR | CHR | 56K | 1/2' | 175° 20832 NE 26TH PL . ONTRTAFfEOC_}M'?\] A Sveaca
oo | BoTTom oF TRUSS. .. |2-WAY EARTHQUAKE SWAY BRACE < |NEW 1/2' PLUG — — RELOCATED EXISTING PIPE || EASY | HIPERF.[ 72'| 1/2° [ACT[ NA BUILDING INFORMATION SAMMAMISH. WA 98074 P o - REG. NO. 360
cts | cut To surr ~~ | LETTER INDICATES TYPE /\ NEW FLEXDROP EASY | HIPERF.| 48" [ 1/2'x9" [GWB| TEK _ ’ B neCERTIEICATE OF COMPETENCY Bus: (253) 926 - 1880 FAX: (253) 926 - 2350
IFOW | INSIDE. FACE OF WALL 4. |4WAY EARTHQUAKE SWAY BRACE S | NEW STRAP OUTLET T~ RELOCATED EXISTING FLEX | LEASY| HIPERE.| 60" | 1/29" |GWB| TEK MAINTENANCE CONTACT : ! Nicholas James Scott I
OFOW| OUTSIDE FACE OF WALL “1" LETTER INDICATES TYPE 7 N\ EASY | HIPERF.| 72" [ 1/2'x9" |GwB] TEK MAINTENANCE PHONE : PROJECT MANAGER : PETER SEDRAK § 0627-1019-C  Level 3 S| M ERl D | AN CENTER F AC ADE
NG | UNLESs NoTed Orveswse || —+— |HANGER LOCATION MT | NEW MECHANICAL TEE OUTLET BRACKET LEGEND. NEW ALARM COMPANY : OFFICE PHONE : (425) 885-4300 ' SumHesiagT S|
N.LC. | NOT IN CONTRACT WALL LEGEND ACT = STANDARD OGSB BRACKET < RELIABLE RA6012 | DRY SSP F3 CHR [ CHR [ 56K [ 1" [175° [A=17 [ 12 ALARM PHONE - CELL PHONE - E 5; o> 5 = |5
TOE | THREAD ONE END _69 ELEVATION ABOVE REFERENCED R | RELOCATED EXISTING SPRINKLER | | EXISTING WALL GWB = T-BAR, TBS ENDS, AND OSSB CLAMP < RELIABLE RA6012 | DRY SSP F3 CHR CHR [ 56K | 1" | 175° [A=285] 2 j : (206) 308-8873 Zxpirod]l

TBEITT | THREAD BOTH ENDS POINT IN FEET AND INCHES . - HCB = T-BAR, HCB ENDS, AND OSSB CLAMP =y RELIABLE RA1425 SSU F1FR-56 BRZ [ 56K | 12 | 175° | — 8 ALARM CODE : EMAIL : PETER.SEDRAK@WALEFINS.COM NGt J' 4423 SOUTH MERIDIAN
(") |HYDRAULIC CALCULATION NODE > | EXISTING THREADED OUTLET NEW WALL TO CEILING 4BAR = T-BAR, TBS ENDS, AND OSSBCLAMP || & RELIABLE RA1425 | sSU FIFR56 | BRZ 56K | 1/2" | 175° 2 ALARM PASSWORD : SEEEm s ———— PUYALLUP, WA
XA AKX X] NEW FULL HEIGHT WALL TEK = (2) 1/4"x1.5" TEK SCREW FIRE DEPARTMENT :
—H— | FLEXIBLE COUPLING (E) | EXISTING SYSTEM COMPONENT | | NEW LOW WALL \é\é?; /Z"(i) ;)10@1;:_223_%22%\/\/ FIRE DEPT. PHONE : DESIGNER PROJECT MGR DATE SHEET JOB NO.
—t— |RIGID COUPLING NEW SOFFIT WALL 9'x1/2" = 9" LONG x 1/2" EXTENDED NIPPLE TOTAL NEW o4 CERTIFICATE OF COMPETENCY STAMP TANNER R LANE L. 10/28/24 1 OF 1 T124064




	Sheets and Views
	WORKPLAN




